ARBRE S HRIL (BT 641 A7)

XA B | X4y THINE VR
1| 1/7 P [SRaTiHBIE AR - T E S EOUE = M OSBRI RS 5, 000
2| 1/11 | #ih€ |BafigEANY 7 7 HERMES 2,000
s 1/11 | &% [Bae—2Y—27F7%5 6 [EHHFES 5, 000
41 1/12 | BB |2 0 2 4 TRk HERA & 3,000
50 1/13 | &% |56 Fp REFHEMSEFES 6, 0001
6| 1/14 | 2% |FM6FEHE4 6 RIIBHXKZEZ )= 3, 000
T 1/14 | 2% |55 EEPIHMXZEER 2L 2 KOEHES 3, 000
8| 1/20 | &% |55 FEREAMXZHEWES 2, 0009
9| 1/21 | &% |BAESEEMKEETILME R HHRSHL 2 0 AL aREE 5, 00019
10 1/22 | &% DS EEFRRY A TRIFSLRE —HERMKEREEZEMNES 8, 000
1 1/23 | BE [EEREEZES (% &BH ES K) ZRERER 3, 0001
12| 1/23 | B IERECEZEE (% &H EE K) SRR 17, 0001
13 1/23 | 2% |BA@ELA#I2 0 2 4EFESAKRS 5, 0001
14 1/24 | &% |HFRETEASIERESSRTFS 5, 0001
15| 1/24 |20 3 4EERAT &b EMERIE 15, 000
16] 1/26 | 2F |AbOGUTRANITSE 7Y — 07 7 7 HER 6,000
17 1727 | B |[SEBHIKIBRIGHES S E S 2, 000
18 1/27 | 2% |20 2 4 FFERMXHFERITHIER 2, 50014
190 1/29 | &% [y OEERECHET I HHESEAS 1, 500/
X ORKAFENFOHFHFEALIL, T4 —ICE LI E LET,
X RREOSHIE, RELHE K O RE R LSO oy & & E T,

£ at
PN 1 At N 5 AR B G
% & A (1) % % 4 % (1)

o 4 12, 000 31 114, 500

E ¢ 12 52, 000 58 288, 500

SEA Y 2 20, 000 34 287, 000

& W 0 0 1 5,000

Zz O 1 15, 000 13 115, 573

N 19 99, 000 137 810, 573




